0-125 OoOoobDeODOOOOD@O26090)

O
=8ms
b =20ms
=20 50ms
Discrete Element Method DEM
D'=1.0m 7/D'=0.7 W=5.0m
DEM
1
2)
DEM 2
3
Df fsv ¢fu K w kfs)

<« falling mass

sand cushion D
(grain shape, _ @

Dmax’ Dminv

y
Ps ¢p’kn‘k5’h)
L x|

mass, M’ (kg)
—v— 5000

Velocity of plastic stress wave,

3 ~4—2000
G —4—1000
T —0—500
w 0:
0 8 16 24 32 40 48 56 64
1 DEM Impact velocity, 7, (m/s)
4
—— impact force of falling mass
transmitted impact force
1600,"“"“"‘p““ q>5160,~w~w~w~w~~u
L j = r 1. .
= [ 1 g 140- — — impact velocity,
Z 1200+ . 2 120F 1 Vo (mis)
Pt [ 1 o F A—— 3 364
; 8 1 % ~100F 3
g soop ] §§ o —or—3—3 +i§
E [ ] 8= Uk = - a 1364
g 400] : o T ~— S 8
g— J o 40i *—o ® 4 —a— 4
E = : ] A2
0 S 20F 1 —e—1
n n n 1 n n n 1 n n n 1 N n n T) L 1
0 20 40 60 80 > %1006 2000 3000 4000 5000
Time, ¢ (Ms) Mass, M (kg)
2 5
466-8555 16 227 TELO052-735-5497

-249-



o-125

1kN
3(a)

M =500 5000kg

Vo=1 64m/s

/D =05 0.9 2.0 3

2.0

D=1.0m 16=16.0m/s
6
Penetration depth, S (m)
0 02 04 06 08 10 12 14 1.6 1.8
,\10008 T T T T T T T T T
z
< 8000k =
Py ——Hh
g 6000F (= > 1
S 40008 D'=05 ]
g -/} Impact force of falling mass:
g 20005~ Transmitted impact force 7
—  Om&H R AR
S 3
< 80007 ,/ 1.5m ]
['L E v 7 A
& 6000F ]
o L
£ 4000 /D209 1
2 —— Impact force of falling mass:
é 2000 = == Transmitted impact force 7
- 0 ; | } | ; 1 ; 1 ; | | | ;
= a ’
£ s000- 3.25m ,'/ ]
= =
a5 6000F < = = )
8 - — -
£ 4000 Ny 7/D=2.0 ]
S K — Impact force of falling mass
g— 2000 = ==Transmitted impact force
- 0! LA 1 1 1 1 1 1 1 1 1
0 10 20 30 40 50 60 70 80 90 100 110 120
Time, ¢ (ms)
6
60— T T T
o |
5 E s0f .
"E’ =~ f
= % 40j B
§3 3ot
= g 30F ]
IS [
D o L
S5 20F E
oo T ]
&% 10F r’=0.99996(
= | ]
0' . b A I |

o 1 2 3 4
Thickness of sand cushion, 7 (m)

1)

2)

-250-

OoOoobDeODOOOOD@O26090)

6
7/D '=0.9

=18ms

3(b)
7
18ms

=18ms

7/D'=05 2.0
=18ms

DEM

pp.1587-1597 1993

5=0.3m

1.5m

Vol.39A

A2

Vol. 67 No.2 pp.355-364 2011



